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16U/94/8(i)
No. of Questions : 100
gl @ " : 100

Time : 2% Hours Full Marks : 300
1
AT : 2 W02 . yuniE: 300

Note : (1) This quéstiun booklet contains 100 (Hundred) questions in all
(30 in Section - A and 70 in Section - B). Attempt as many
questions as you can. Each questions carries 3 marks. One mark

will be deducted for each incorrect answer. Zero mﬁrk will

be awarded for each unattempted question.

g9 ueA-gRae H H 100 (W) wew ¥ (@us-3r # 30 T
GUe-9 # 70 ) | SHINAF uAT @l s FA HT TIA HY | TAD
s 3 (W9) ofhi &1 B g9B Torw gwvw F ow gFE iw
PICT AR | T&% AFART T HT Aich LI BT |

(2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.

ai uepifees Jepfeaess IO @d IO & Frave udia &Y, ar ey
e I T |
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01.

02.

SECTION - A
gus - 3

Suppose one student complains to his teacher that three other

students have copied form each other in all the tests, which
suggestion from the following will you like to give to the teacher?

(1) give the three students a zero on the last two tests.
(2) consult with student’s mother.

(3) try to understand why is he saying this.

(4) ignore the remark.

H IfSra 36 U B o199 Syearas q g8 femad awar & @ & o
Bl 3 9 3w W us gk A 9% R B e @ fpa ggma @
Y 3TeAqH Hl AT T HAT ? |

(1) &1 o= o fUsd & 2@ | S & ar|

(2) ®ET #H 7 q G9Hh B |

(3) g |uz@ &1 9grd &3 6 39 8= A A1 R Fer |

(4) fewoft 93 earT A A |

The most promising step for a teacher to take in order to improve
class discipline is to :
(1) evaluate his/her material, methods, and approaches to children.

(2) consult the class and agree upon a graduated series of pun-
ishments.
(3) call a class parent meeting to discuss the situation.

(4) refer the worst offenders to the guidance centre.

gcollegeduniaa
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03.

O STATIE B T Fel B STIATET B GG B TEAH IYGHRT TR
g8 8 b :

(1) @s ora+t arel, RfY qer Iur &1 Jedieh H1 |

(2) wem q TS FT T 9T B A Aot T M B
(3) uRRafy gz Rar-famst 3G wen sifdrmas dwr o |
(4) =9 @E U B MR HE uX A9 |

Suppose in a conference, the mother of the third grader asks the
teacher how she can help to improve her child’s reading ability.
Of the following the poorest recommendation is that she should ?

(1) encourage the child to make regular visits to the public library.
(2) Take the child on trips to interesting places in the community.
(3) Read with the child.

(4) Severely limit the child watching of television.

M S 6 o gei 9ot § 9| 8 arel B @t |l 9T A 98
W%%w%mﬁmaﬁaﬁawmﬁwm%l
T J @ gad @ua g 9/ 8 gehdr & 7

(1) a8 8= &I AEsiH gEaema § g & s
(2) 9=a B GYEE B WU L FH HIOT HE |
(3) B & dTeI IeqTT F |

(4) m%ﬁtﬁ%@ﬁwmﬁaﬁmml

All of the following are applicable for teaching to create good
motivation among students except that teaching should :
(1) be brief.

(2] relevant to the pupils.

(3) be related to the lesson that follows.
(4) always come from the teacher.

P.T.0.
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05.

06.

=1 H | gl Rreror et & ord stRnioT &

(1) Terefor ey & =nfe |
2) RwrT B & srgew @ AT

(3) fEYT ggm S aw ure & IgEY e =Ry |
(4) TRrIT BRA STeATIE § ST @R |

The operation of the class library should be the responsibility of :
(1) The teacher.

(2) Volunteer parents.

(3) The children who contributed the books.

(4) Rotating committees of pupils.

U el JEdhlard & S 6l SaiiEliad el ey
(1) S7eges F

(2) wWfeses SATTAES 6l |

(3) 37 @t & e gw® a= 7 & B

(4) ®Ef & =sHrgHaeia dfEfadr @

In dealing with a class that is misbehaving, the teacher’s least
effective course of action is to :

(1) ask the principal to observe the calss.

(2) lower the grades of pupils who create the most serious
infractions. ‘
(3) isolate those most responsible for the misbehaviour.

(4) ascertain the extent to which his teaching t:xwthnd is
responsible.

qmmmnﬁwmﬁ%%ﬁ@ﬂw%ﬁﬁmﬁm

THET AT T & 7 mﬁ%mﬁ

1) urEd & e b |

:2} Hﬁﬁﬁ?ﬁ@ﬂﬁﬁﬂﬂﬂﬁﬂlﬁ@ﬁﬁ%ﬁ?ﬂﬂﬁ%l

(3) W%Wwﬁmﬁmﬁmmﬁaﬁwm%l .
(4) ﬁﬁﬂﬁﬁﬂ%m%ﬁmﬁwmwm |
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07. Children’s attitudes toward persons of different ethnic groups are
mostly based upon :

(1) their parent’s attitudes. (2) the attitudes of th:eir.peer.
(3) their sibling’ attitudes. (4) their religious affiliation.

aﬁ%gﬂﬂmﬁuﬂ@%nﬁraﬁqﬁﬁg@w%maﬁ%:
(1) I AfwEES A gl 9|

(2) I9 Bl & AR¥Eia W)

(3) T WE FEw i AP 97|

(4) I uii¥e P X

08. A child from a disorganized home will experience the greatest
difficulty with :

(1) well structured lessons.
(2) independent study.

(3) programmed instruction.
(4) short answer tests.

T foEfed aer & a=2 @ q99 oifvs &feaw art -

(1) geafad ure ||
(2) WA=AgES THAT HA A |
(3) A= srgRee |/

(4) THITAT T4 |

09. Effective teacher is he :
(1) who has control over the class.
(2) who can deliver more information in limited period.
(3) who inspires students how to learn.
(4) who carefully check the home assignment.

U J9EN STE9h a8 & -

(1) Freep sen 9x Q@ =7 ar )

(2) St %9 G99 § 31 gemr ¥ Gehar B

B) S BEl ® B dEr TR sEd /A IRT Hear 2

(4) ST T8 FE H UGS SeEr B

7
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10. Which one of the following is an indicative of the quality of teaching ?

11.

12.

(1) maintains pin drop silence in the classroom.
(2) Raises very standard questions.

(3) students reply in the classroom.

(4) Pass percentage of the students.

et & & aRar o1e8 S1edIas & o1 &l e+ &ear 8 7
(1) =pem # goi enf~a g« Y@= |

(2) ®H 99T I GBI |

(3) ®ET T Har H I AT

(4) @em ® I« BE @l AL |

Rajan is the son of Kumar, Sheela is the daughter of Rajani. Kumar
is Father-in- law of Rajani. What is relation of Rajan with Sheela ?

(1) Brother (2) Dewar (3) Father (4) Son

T, FAR F QA B, Ao, 1 A ER R AR, T B @yl )
ToT= i e | o Rear ® 7

(1) =g & (2) WX & (3) Tar (4) I W

Write the pair which is different from others in the following pairs :

(1) Cycle and Scooter (2) Rifle and Sword
(3) Pencil and Pen (4) Shirt and Taylor
Prfafd § @ 5@ 12 B R S o e @ R
(1) wEfra o FHeX (2) EHA T TAER
3) UFew w9 (4) T od <ot

8
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13. 27:16::125:7?

14.

15.

16.

(1) 36 2) 114 (3) 136 (4) 216

If Bank is coded as DCPM, how the word BOOK should be coded ?

aft g Bank & gfea fkar sar 8 DCPM & @ BOOK &t &4
Hiea AT o wehar B 7

(1) MPGK (2) DQQM (3) DQQN (4) NMCO

Which one number can be placed at the sign of interrogation ?

gaTep e (7) @ WM 9 HH-a e @ ST 9@l & 7

15 | 6 S
13 | 3 9
8 2 ?
20 | 7 13
(1) 1 2) 4 3) 6 4) 7

A man travels 12 km. West, then 3 km. towards South and then 8
km. towards East. How far he is from the start ?

(1) 23 km. 2) 20km. (3) 15km. (4) 5km.

T AT 12 . afven Rew & omar & Rsv 3 Bl afvor Rem 9 Re
Bﬁsﬁ.ﬁﬁmaﬁtmﬁw%ewwﬁwmaﬁﬁagﬁﬁmg%?

(1) 23F.  (2) 20@®. (3) 1SR 4) 5Re
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17. Five boys are sittings in a row. A is on the right of B. E is on the

18.

19,

left of B but he is on the right of C. A is on the left of D. Who sits
first from the left ?

g s up iR F ST EIAB B TfRA 21 E,B & a9 &, af7 C
AR BIAD B I B 9 ¥ Ga@ g8 A FeT B 7

(1) D 2) C (3) A (4) B

Anand is older than Shashank but younger than Rohan. Dhanashree
is younger than Seema but older than Rajshree. If Rajshree is older
than Shashank, who amongst them is the oldest ?

(I} Rohan (2) Seema
(3) Dhanashree (4) Can not be determined

ST QIR § IF § ST B, uxeg A8 @ Bier ® 1 asl @A | e
? farg 7Tl A 9 ¥ orR vl S | & R, O & @9 I
d ey 921 B 8 7

(1) W= (2) € |

(3) e (4) & gar ST S b 8

A person starts from his house and walks 100 meters Stral:ght
towards South, takes a left turn and walks 75 meters straight
towards East. How far is he from the starting point ?

(1) 175 meters (2) 125 meters
(3) 100 meters (4) 25 meters

=T oTa u¥ | afdor e H 100 ez e =@ 2 1 T &
;ﬂﬂ{@ﬁwaﬁaﬁtﬁﬁaﬁmw%laﬁmmﬁw

U W' ?
(1) 175 Hiex (2) 125 %Y

10
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20.

21.

22.

23.

State the alphabets of the letters which will come next in the
following series :

T e @t o B ot #§ S ST
AD, EH, IL, ?, QT

(1) LM (2) MN

(3) MP (4) OM

EDUSAT was launched on :

(1) 9% September, 2004 (2) 11™ September, 2004

(3) 20™ September, 2004 (4) 18™ September, 2004
Tgde & wWiia @ @ .

(1) 9 Ma=R, 2004 (2) 11 =R, 2004

(3) 20 fawax, 2004 (4) 18 M=y, 2004
Recently Government of Bihar decided to give ------- days Child

Care Leave to its women employee :

B H & e 9w@r 3 o afger sd=nta & o L et a5
qEeS AL g A B M=y Bear B

(1) 365 (2) 600 (3) 730 (4) 800
Which one is the first digital state of India ?
(1) Uttar Pradesh (2) Gujrat
(3) Andhra Pradesh (4) Kerala
WA HT qea [Sied = H-ar ¥ ?
(1) ST g_Y (2) oI
(3) oy gasr (4) &
11

P.T.0.
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24.

25.

26.

27.

Who is_: the present Director of National Assessment and
Accreditation Council ?

(1) Prof. H. A. Ranganath (2) Prof. A. N. Rai

(3) Prof. D. P. Singh (4) Prof. Arun Nigavekar
AT STHAHT QUT ISR HSRET H adue PRy @ 2 7
(1) 91. T30 To WM™ (2) HI. To uqo IH

(3) A@1. o Ho Rie (4) 9. or& FmaER

The 2011 Cencus show that adult literacy rate in India has risen

to ......... :

2011 &t SHIYFET & HAFAR AR P Mg TIERAl &T 96 BT ...
B T B ' '

(1) 74% 2) 65% (3) 85% (4) 78%
Who is the Chancellor of NEUPA ?

(I) Mr. N. R. M. Menon (2) MR.J. B. G. Tilak

(3) Mrs. Usha Tygrajan (4) Mr. Baswaraj Swamy

T % g ft T FH grEat w8 7 |
(1) = TH. IR, TH. A9 (2) =t . . . e
(3) =i\dl IuT @RS @) = sFETS @

The ‘Sarva Shiksha Abhiyan’ aims for the given :
(1) Universalization of Primary Education.

(2) Universalization of Secondary Education.
(3) Universalization of Pre-Primary Education.
(4) Universalization of Girl Child Education.

Td f3ren oI’ W IR ¥

(1) wrafies farem @1 QEEEHIST |

(2) weATen faTE I ATHIEHT |
(3) gd-uTeiien frer T AR |
4) arferent Tr&T <l GIAHHTR T |

12
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28. When is the 12" Plan coming to an end :

(1) 30™ June, 2016 (2) 31™ March, 2017
(3) 31" March, 2018 (4) 31% March, 2019
Bl AT B GHIS SRl 7

(1) 3031, 2016 | (2) 317, 2017
(3) 31Hm, 2018 (4) 31 Ard, 2019

© 29, PMMMNMTT was launched in :

(1) December, 2014 (2) February, 2015
(3) March, 2015 (4) April, 2015

9 o9 UH UF .9 uH & & & wnfue B

(1) =y, 2014 (2) wad, 2015
(3) ==, 2015 - (4) o™, 2015

30. Which of the following University receives its funds directly from
Government of India ?

(1) RGNAU, Raibarelly

(2) JNU, New Delhi

(3) B.H.U., Varanasi

(4) Vishwabharati, Shantiniketan, W. B,

ﬁwﬁﬁaﬁq—w%&aﬁmmww%eﬁ&ﬁfﬁww%?
(1) TR St @7 € g, gesst

13
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SECTION-B
Erues-9

31. The value of (sing + icos g)?* will be :

(sing + icos g)* 1 HE BRI :
(1) (-1)*(cos2ng-isin2ng) (2) (-1)*(sin2ng-icos2ny)
(B) (1)*(sin2ng+icos2ng) (4) (-1)*(cos2ng +isin 2 ny)

32. The value of log (10 + 10x + 10x* + .....) is:

X X X e
(1) 1+I+E+§+ ......... (2) 1—x+§ ETR—
xl’ IJ x.? IJ
(3) l+x+7+?+ ......... (4) l~x—?——:3- ......... =
3+iy3

33. 'lfx= 5

(x* +3x)?* (x* +3x+ L) 18 :

is a complex number, then the value of

gie x =_3+i\ﬁ usp G @@ g, ar (x2 +3x)? (x? +3x+1) W AN e
2

(1) -18 2) 18 (3) -16 (4) 16

R 9 R AR=2i+5j-k then Iﬁlu*illbeequal
34. IFOA=3i+2j-3k andOB=2i+5j-k » |
to:

—_
Stk OR=2i+ 5j -k e B
uﬁ'ﬁ"ﬁ=3i+2j—3kﬁmos=2l+sj—k,€f | AB|

(1) 10 (2) 20 (3) 28 4) 30

14
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35.

37.

38.

If the centre of the circle x2 + y2+ 3 x + 3 = 0 is lying on the line

x +y =1, then the value of ), is:

Rk gaT X2+ Y2+ x+3=0 IR @ x+y=1 W RE@ &, T )

qe

M -2 @ 2 @) -3 @ 3

. The eccentricity of a Hyperbola 5x? + 4y2 =1 is :

SARIIEwT 5x2 + 4y2 = 1 ST B

1 1
1) 3 | = 3) 2 (4) J5
The centre of the circle 2x2 + 2y? - 3x — 5y — 7 will be :

I 2x% + 2y? - 3x— Sy - 7 H =% &R :

0 G @ () e (3 @)

| sinE _
The value of ym_B_*’r will be equal to :
sin —
lim 94 HI HH TS B
1 ]
(1) 0 @ 1 @) @ -1
5
1 P.T.O.
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4

39. The solution of differential equation 3-2=0 js -

2
X

(1) y=ax?+b, where a and b are constants.
(2) y=ax+b, where a and b are constants.
(3) x=ay +b, where a and b are constants.

(4) x=ay?+ b, Where a and b are constants.

(1) y=ax2+Db, S@l a AR b =X & |
(2) y=ax+b, ST&l a 3 b =R B
(3) x=ay+b, &l a 3 b @I B |
(4) x=ay?+b, Sl a 3R b =X B |

Mg dciins
40. A 3x2 matrix whose elements are given by a;= 5‘1 -3)| i8¢

| (-
up 3x2 snege e staga a;=li-3jl & & U 8, Beh

1

2

;
2
7
: @)
1

S |lwvm |-

(1) (2) (3)

b R W
o

L
W o W

=T o

oW N W
)

b | -
-

—
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41. The absolute maximum value of a function f(x) = 2x® - 15x* + 36x +1

on the interval [1,5] is :

st [1,5]) 9¢ wee f(x) = 2x3 - 15x2 + 36x +1 @1 e 3=
q ®

(1) S6 (2) 48 (3) 62 (4) 54

42. The point at which the tangent to the curve y=/4x-3 -1 has its

1
slope 3 is:

T8 g, 1 T y= [ax—3 -1 % Tt A s 5 ¥, A
@3 @ 62 @ @ @ (3.4)

43. The equation of Normal to the curve Y = x? at the point (1,1) is :

forg (L1) 9T a6 Y = x3 & sifdrerr &1 aefieeer ® -

(1) x-3y+4=0 2) x+3y+4=0
P x=qy=4=0 @) x+3y-4=0
44, If y=tan" [ S%X

d
I cona’ then the value of i will be equal to :

el [1—COSX d
g y=tan” y |
y 1+mx’ﬁhawqﬁw@m:

1
Gl 3 (4)

L | =
| —

17
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45. The area of triangle whose vertices are (-2,-3), (3,2) and (-1,-8) is :

(-2,-3), (3,2) T (-1,-8) sfid fargel art By 1 S=rwe ©
(1) 5 (2) 10 (3) 15 4) 20

cosa — sina

dloy J, then the value of A will be :

46. If AZ[

oo cosa -sina
sina  cosa

],?ﬁﬁ“mqﬁé‘ffn:

) cosa sina cosa - sina
(1) - sina cosa (2) sina - cosa
cosa - sina | cosa -sinu]
(3) - sina  cosda (4) sina cosa
(25 31 15 ]
47. The value of the determinant 42 63 48 i8 3
|56 100 112 |
25 31 15
42 63 48 3.
L IEARIED &l A &
s6 100 112
(1) 225 (2) 1265  (3) 2635 (4) 3948

18
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48. In a triangle AABC, if a = 25, b = 52 and ¢ = 63, then the value of

tan%willbe:

AABC ¥ af® a=25,b =52 agr ¢ =63, % I HE BITI-

@

1) 3 @ 3 @

]
3 5

49. The distance of the plane x - 2y + 4z = 9 from the point (2,1, -1) is :

%(2,1,-1)ﬁﬂqﬂax—2y+4z=9aﬁ§ﬂ%:

13 11 17 19
0 & @ m B 8 T

50. The integrating factor of the differential equation
1
1+x?

(l+x’):—i-+2xy= is :

- — 2\ dy _ 1
Al (”"i)dx Py = o W EHEE O §
1) — @ —= 2

it f g e B) 1+x (4) 1+2x

S51. The conf:lition that the roots of the equation ax?® +3bx2? +3cx +d = 0
may be in geometrical progression is :
FHIHTOT ax® +3bx2 +3cx +d = 0
2 T IoHE Ao F 8 g a5
(1) b3d + acd (2) b3d+ a3c
(3) b%d-aic (4] b3d - ac?

19
P.T.0.
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S2.

S3.

55.

56.

622

.If z =ye¥, then pes at (0,1) is equal to :

2
Qﬁz=ye“,a’r(0,1]qt.§v_;w%;
1) o 2 1 @ 2 @) 3

The value of E | x| dx will be equal to :

[ Ix|d< @1 w1 smre @ -

(1)

b2 | n

(2) -;]_: (3 % 4) 1

tan (sin"'X)

. The value of Jﬁ“ dx is equal to :

tan (sin"'x)
I ﬁ dx =1 79 FUET B ¢
(1) log sin(cos™x)+ C (2) log cos (sin™'x) + ¢
(3) -log sin (cos™x)+ ¢ (4) -log cos (sin™'x)+ C
The area of the surface bounded by the curve y? =X, linesx =1, x=4

and x - axisis:

FH y> =X, Qs x=1,X=4 ud x- 378 § O &F o7 445 ©

11 7
(1) I_;“ () 1—;' @) 3 “ 3
The Pascal Law of combination is :
w5 TR e B
(1) 't ™o @) et ™Mo
@) ™lorro-1or @) ol Mo
20
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57. The value of 15(cos 150° + i sin 150°) = 3 (cos 60°+ i sin 60°) is :

15(cos 150° + i sin 150°) +3 (cos 60°+ i sin 60°) F1 A & :
(1) Si (2) 5 cos 60°
@) 5 (4) 5 sin 60°

58. The squarroot of (5 +12 i) will be :

(5+12 i) @1 aree B |
(1) +@+3i) @ =+(1+20) (@) +@+2i) @) +@+5i)

x S .
59. The 7™ term in the expansion of [—5- - 5;] 1S :

(4—x——§-) $ UER & 9iqdl 9€ 8 ¢

5 2X
7500 8500 9500 10500
(1) 2) 7 (S M- (4) e

60. The equation of that plane which passes through the intersection

line of the planes rQi-3j+k=5 and 'f,('i‘+'5'j ~2k)=1 and is
perpendicular to the plane r(i+ ]+ 5k) =3 will be :

IH GHAA B TAHIHOT ST qHAA! F(2§-3j412)=5 TN r(i+5-2k)=1
@ afreldT Y@T | BHT IR B qA FHAA i+ )+ 5k)=3 G T B

BT
() r@i+3j+k)=6 @) 1Gi+%+k)=6

4l P.T.O.
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61. If (V= {
4i-

62.

‘J+2k att=2
2J+3katt 3

Then f ( }dt is equal to :

2i-j+2k att=2

s rm-{
4i - 23+3katt 3

Fﬁj‘[ Jdt?sma—{%

The value of r% is
['-If; P HE B
(1) 2% 3:’1 ‘.l'l:_21 (F%T [2) 2_.% 3% n_% (r%]
33102 (rl) bt dp o
@ 273%e(rs) @ 237 (ry)
The order of each element of the group ({1, 0, »’},) will be :
e ({L,0,0°),) ® TG GFd H AFHA BN :
(1) 1, 2,3 2) 1,3,3
(3) 1,2,2 4 1,3,2
22
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64. If A ={1,2,3,4,5} and R = {(x,y) : x>2,y=3} then the Domain and
Range of the relation R are :

(1) Domain = {3,4,5}, Range = {3}
(2) Domain = {1,2,3}, Range = {1}
(3) Domain = {2,3,4}, Range = {2}
(4) Domain = {1,3,5}, Range = {1}

gk A ={1,2,3,4,5} @1 R = {(x,y) : x>2,y=3} ar g=rgq R Eﬁfﬁh
T IRER R

(1) =1 = {3,4,5}, afER = (3}

(2) =¥+ ={1,2,3}, aRET = {1)

(3) =M ={2,3,4}, g = {2)

(4) S+ = {1,3,5), 9RER = {1)

65. f A={X:X <5xeN},B={x:x<10,xc N} andC={x:2<x<6),
then A- (BN C) will be equal to :

TR A={X: Xs5xeN},B={x:x<10,xeN} aor C = {X:2<x<6),
@ A- (BNC) smEy 8-

(1) 3,9 @ {12} @ Q6 @ 3,5

23
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67. The asymptotes of the hyperbola :—1- o it

- =] are :
b;.

SIREECNE! :;-E—;ﬂ & STAaeelt B

2 2.2 bx
(1) yzi'% (2) X':ia;; (3) x=+=7 (4 F=2=

68. The sum of the fifth powers of the roots of the equation x’-1 =01s:

wﬁwﬂd=0%qﬁf%q‘1‘aﬁaﬁaﬂzﬁv%:

(1) O 2) 1 (3) 2 4) 3

] ] 1
t—+——+
1.3 5.7 9.1

OF. “—roorrr @ is equal to :

1

bt rrrenn®® FIEAT E G
1.3 5.7 9.11

wol|A

(1) @ 3 @ = (@

70. The radius of curvature at the point t on the curve X = a CoS .t,
y=bsintis:

a;ﬁx=acost,y=bsintﬁﬁffﬁ75gt gy ashal BT ®-

% . 3 T
a‘cos’t + bzsinltT ) 2) (ism t+bb cos t)
m— a
(1) L ab
1
T QOO TGN 1 S %,
azcﬂgfl +h15in“t\ l4] ( a’sm t+ b cos t]
3) (*’“‘2;1?"“ ) ab
24
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71. A ball is projected vertically with a velocity of 49 m./sec. at 30°
from the horizontal. The range on the horizonal surface is :

qasﬁawﬁo/ﬁn%awaéafwéﬁaasm%ﬁww%
IRt ® 1 &R a9 9T 9| 8

245\3 -

(1) ; metre (o) (2) 24ZJE metre (o)
2453

(3) metre (Hio) (4) 24572 metre (o)

2 5

72. The two 'forces P and Q act on such an angle that their resultant
force R is equal to the force P. If P is doubled,then the angle
between new resultant force and Q will be ;

R RS G L T N S ep—

YR s R a9

P%W%lﬂﬁﬁﬁPﬂ%ﬂgﬂTWﬁWW%a’r qRemH
T

M Q & A o oy Brr - | L

(1) 90° (2) 60° (3) 450 (4) 300

73. ;t]et a person of 50 kg. weight be inside a lift, then the weight of
at person when the lift is being lifted vertically with the
accelaration of 4m. /Sec?, will be equal to

(1) 89 Newton (2) 360 Newton
(3] 690 Newton (4) 870 Newton

E%mioﬁmﬁquzﬁaﬁﬁ@ﬁwf%@ﬁ?%mﬁ%w
o/do ﬁwﬁwwwammwﬁﬁmmmz

(1) 89 =ge+ (2) 360 e
(3) 690 a1 (4) 870 =ges

25
P.T.0.
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74. ¥A={12,34} B={a,b,c,d)and c={, m,n}wheref: A = Bandg:B —C
are defined by f : {(1,a), (2,¢), (3,b), (4,c) and g:{a,1), (b,1),(c,m),
(d,m) respectively, then (gof) : A—>C will be defined as :

afx A = {1,2,3,4}, B= {a, b, ¢, d) @1 ¢ = {l, m, n} @l f: A 5B @
g:B— C s f: {(1,a), (2,0), (3,b), (4,c) T g:{a,l), (b,l),(c,m),
[d,m]ﬁrﬂqﬁﬂﬁﬁ%ﬁ’f (gof) : A—> C g ifee B ¢

(1) (gof) : {(1,1), (2,m),(3,1), (,1)}

(2) (gof) : {(a,1), (b,2),(c,3), (d, 4)}

(3) (gof):{(a1), (b,m),(c,n), (d,n)}

(@) (gof): {(1,m), (2,1),3,n), (4,1)}

75. The sum of n terms of two arithmetic series are in the ratio
(2n + 3) : (6n + 5), then the ratio of their 13% term is :

ﬁmﬁ'{aﬁxﬁf%nqﬁwa’m(2n+3]:(6n+5)%aﬁqmﬁ%ﬁr
I 13F 9% %1 S el

(1) 29:83 (2) 53:155
3) 31:89 (4) 27 :87

76. If A and B are the two events such that P(A)= road 53 Y

P[%) = % then P(B) is equal to :

(3)

—
-
—
S
—
|\
—
w |-
|
—
k. -
B

26
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78.

The number of binary operations on a set {a, b} are :

qg==g {a, b} 9T fEemaTd w@iFawel #t dear arl
(1) 10 2) 16 (3) 20 4) 8

If the discriminant of an equation is zero, then its roots will be:
(1) Real and Equal

(2) Real but unequal and irrational

(3) Imaginary and Unequal

(4) Real but unequal and rational

I s a@ @l & 3o 8
(1) arafas R 999

(2) ol Ay STEH @ STy
(3) Sif¥rerfeaa aum orEmM

(4) arsfa® g STea™ @ oAy

GRA r=xi+yj+zk D A :

(1) divi=1,curl; =0 (2) div;=2,curl ; =1

(3) divi=3,curl ;=0 (4) div;=4,curl ;=1
. The shortest distance between the lines x;B = y-18 = ZIJ and

1+3=}'+7=z-6 .

3 > 7 is:
x-3 _y-8_12z-3 x+3 y+7 2z-6

st — e 1 3 "3 T g @ @ gaan

EULE

(1) 5 2) . 5

3738 (3) @) 330
27
P.T.0
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81. From the histogram of a frequency distribution with equal class

82.

83.

width, we can calculate the value of :
(1) Median only (2) Mode only
(3) Median and mode both  (4) Neither median nor mode

ga gt R are [ e ded & AEd = 4, 89 A9
TUHET T Thd 8 ¢

(1) ae qiiege (2) HIA TgASD

(3) wiftgen ofX sgae @Ml (4) T @ HifemeRr T € agew

The most appropriate diagram to represent the five year plan out
lay of our state in different economic sectors would be :

(1) Divided bar (2) Percentage bar
(3) Pic (4) Coloumn

fafir=y anffs &5 & oq W3y 3 Uoadta Ao aiterd # Ui &
fRro galfard SI& B8R -

(1) fawhm s (2) wfaed &
(3) urg (4) ==

Mr. X wants to purchase a car but he is confused to choose the
one. The probability that he will go for category B or C cars are
0.54 and 0.46 respectively. If he selects category B cars he will
purchase either palio or Indica with respective probabilities 0.48
and 0.52. On the other hand, if he goes for category C, the
probabilities of bying Accent is 0.59 and that of Ikon is O.ﬁ?l. In
the light of above information, which car is most probably going to

be purchase by Mr. X
(1) Palio (2) Indica  (3) Accent (4) Ikon

28
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T X O HIT @l awd & oty Rt o B g A s ¥ gw
ST 7% a8 Aot B a1 Aot C 9t it & R s | spman: 0.54 o
0.46 %1 4k @& oft B & ) g ¥ g% a1 ar qiwt a1 sRsw @
AL AT 0.48 ST 0.52 3 @ @I | g@dt oik a8 C v &

. In tossing of a coin four times, the events E, an E, are mutually
exclusive if ; 2

1) E i ' i i
(1) talﬂ 1: getting at least two heads and E, is getting at most two

2) E,is getting —
(2) talﬂ = getting at least two heads and E, is getting at least two

ad

(4) E is getting at least th etti
ree heads and E,, is getti
. s, 2 1S getung at least

29
P.T.0,
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85. An unbiased coin is tossed until a head is obtained or the total
number of tosses is 7. It is desired to calculate the probability of

event E that coin is tossed at least three times. In this context,
read the following statements carefully.

S, : The total number of mutually exclusive putcomes is 8.
S, : Number of favourable outcomes to E is 3.
S, : The probability of Eis 5/8.

Choose the correct answer from the following :

(1) S, istruebut$,andS, are false.
(2) S, and S, are true but S, is false.
(3) S, and S, are true but S, is false.

(4) All are false.

@mﬁﬁfaﬁaﬁaﬁwmw%mmﬁﬁaﬂﬁwqam
-mgamﬁﬂﬁﬂ?ﬂé‘rmlmEﬁﬁmwmﬁwmm

S, E @t s 5/8 2l

ﬁwﬁr‘f@ﬁﬁﬁﬂé’faﬁ?ﬁ@ﬁﬂ—-

1) s @@ ¥ T S, o S, T E
2) SIG?RSQHQ%W%W%'
3) 813?1'{83'9_&%@82““%,

) T E

30
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86.

87.

88.

In a university 60% students are male. 50% of the male students
and 30% of female students are smokers. If a student is seen
smoking, the probability that it is a female student is :

(1) 0.3 (2) lessthan 0.3

(3) between 0.3 and 0.4 (4) more than 0.4

Tt Frsafremer § 60 uftre e gow ¥ 1| 96w B 3 50% 3% AR
W%SO%Wmﬁaﬁ'%lqﬁﬁ%mwmwmw
8, & 9% U Afken o= & @ mifdewar &

(1) 0.3 (2) 0.3 § 9

3) 0.337% 0.4 3 iw 4) 0.4 9 afysp

There are three bags each containing 12 white and 8 black balls.

One ball is drow_n froms the first bag and placed in the second
bag. Then a ball is drawn from the second bag and placed in the

third bag. Finally, a ball is drawn the third b 1
& ’ ag.
that bag drawn is white is : g The probability

(1) 12/20 () 13/20 (3) 12/21 (:4) 13/21

Which of the following cannot be probability generating function ?

- 9) () (1-5'9/10(1 -
(3) 5/(2+5) 4) 4-n(1+3/5)n( .

31
P.T.0,
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89. Read the following statements :

S, :Poisson distribution is limiting distribution of Binomial
distribution. | |

S, : Poisson distribution is limiting distribution of Negative Binomial
distribution.

S, : Geometric distribution is a special case of Negative Binomial
distribution.

Choose your answer from the following codes :
(1) S, and S, are true but S, is false.

(2) S, and S, are true but S, is false.
(3) S,and S, are true but S, is false.
(4) All are true.

fr=iferiaa e« @1 9T |

S, : gt e fZug de H dar @ |
SE:WWWWWHWW%
Sazmﬁﬁﬁﬁwma’ﬁaﬁwﬁﬂﬂﬁm%l
Frfafee fef & @ o9 Sk g

(1) sleﬁtszﬁﬁ%qﬁsﬂaﬂ%;

(2) SI@TSSH@%WSQW%

(3) S:,Gﬁ'{S;aHﬁ%WSlW%I

@) aft =S T

are independent Poisson variables with paramater
3

X e P g
90. Xx,, X,, and respectively (A, # A, # A,) The conditional distribution

Ah, and A '
of xI X, X, éiven that x +x,+x, = 100, would be :
1? t . | . '
(1) Poisson (2) 1311.'11:)m1.-‘a&lLl
(3) Hypergeometric (4) Trinomi

FSZ
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91‘

92‘

LOU [ ¥/ DY)

X,» X, SR X B89 WA, S A, (A, % A, #A,) HTeT 9 @ QEEr 91
:T;cl,xz R x, 1 SRyl e, srafs Rar mr &, B x,+x,+x, = 100,
(1) @t (2) fEux (3) w~Hiafy  (4) Bug

Out of the three basic principles (randomization, replication and
local control) of design of experiments, CRD uses

(1) Randomization and Replication only.
(2) Randomization and local control only.

(3) Replication and local control only.
(4) All the three.

(3) WWWWWI
(4) | @ B =T ey 2

t- distribution with one degree of freedom is
(;) Not defined (2) Beta distribution
B dfaieit
(3) Fdistribution (4) Cauchy distribution
O ©T=T B e ¢ ges -
(1) Wﬁﬂrﬁa Tt (2) Her-ges
B) F &&= (4) @isft ey &
33
P.T.0.
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93. Given that P(A) = m, and P(B) =n then P(A/B) is never :
(1) lessthan (n+m-1)/n (2) greater than (n+m-1)/n

(3) less than (n+m+1)/n (4) greater than (n+m+1)/n

fear T & % P(A) = m @} P(B)=n @ P(A/B) Ff off e BT @ ¢
(1) (n+m-1)/n & &H

(2) (n+m-1)/n & 3

(3) (n+m+1)/n & &

(4) (n+m+1)/n & 3Af¥H

94. A random sample of size n is drawn from a population having

probability density function :
'Blﬁx{9+l
= 0 other wise

- . chpiten
If x (r) denote the rth order statistic, the maximum likelihoo

estimater of gis:

34
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OTAeRaT 99 B
f(x/g)=13f B%Sxiﬁwé

=0 s=gn

wﬁaﬁw%nwm@uﬁmmmmﬁlﬁx(ﬂ
r 3 s SiReieT Y sfvast FRaT B, @ ¢ @ veaw g ot D -

1 1

(1) Xo* 3 (2) 2
[3) X{Il+ x{l}
= (4) All the above three
IRT T A=

95. Xis standard normal variable. Define :

___{X if [X][<1
-X if |X]>1

The distribution of Y is
(1) not determinable

(2) standard normaj

(3) normal with mean less than zero and variance more than one

(4} normal with mean zero and varance less than one

35
P.T.0.
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X 9% 9qEg 97 8 | gieiiad S |
X af <
Y= gfle | X|<£1

X gR |X]>]
Ya?r?:iavf:_
(1) fafd 2t 21

(2) HAMEH FAHTH |
(3) wﬁwmaﬁt@aaﬁzﬁmwmt

(4) %ﬂmﬁ?@ﬁwmaﬁﬂmﬁn

. The cummulative distribution function of a random variable is

always

S, : right continuous function.

i inui ints.
S, : having only countable number of discontinuity po

S, : monotone non-decreasing.

Choose answer from the following :
(1) S,and S, are true but S, is false.

(2) S,andS,are true but S, is false.
(3) S,&Sjaretrue but S, is false.
(4) S, S,andS, all are true.

36
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97.

98.

e argRes ax &1 @9t g9 wad qed ¢

S, : AT e B

S, : oTHad gl # Sae ToE HE&Er @A ATl
S, : I &Y STETHAT Bl 2 |
Fr=fefaa 2 § | ot I g -

(1) S, XS, §& & wg S, T B

(2) S, X S, W § W=y S, T ¥

(B) S, S, Wt & ux=y S, T B
4 ®® S,S,, S, et ¥

If the degrees of freedom for the error sum of square in Latin
Square design is 12, then its order is :

$%§_aﬁaﬁmmﬁgﬁ-aﬁ—maﬁﬁamm 12 &, & g8

(1) 4x4 2) 5x5 3) 6x6 4) 7x7

Which of the following is correctly matched ?

(1) f‘iszler’s Factorization theorem — uniformly mﬁst power ful
est.

(2) Neyman - Pearson lemma — correlation coefficient.
(3) Rao-Blackwell theorem — Minimum variance Unbiased estimator.

(4) Boole’s inequlity - Moments.

Pl & & @ wdt Framar mar 3 2
(1) Wm@nﬂmwaﬁaﬁmﬁqﬂml

37
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99. Bowley’s coefficient of skewness is based on :
(1) Mean, median and mode.

(2) Second and third central moments.

(3) Second and fourth central moments.

(4) Quartiles.

I3 T farmar aqonsp -

(1) =rem, miftaepr MR Fgerss 9T oenfa 2 |
(2) TET AR draY = g THIRT 2 |
(3) TET AT AN H=EE gy Smenfd B |
(4) =gds u¥ SmaRa 2

100. The classes are not of equal width in a given grouped frequency
distribution.

Statements (S) : we cannot represent the data by frequency
polygon.

Reason (R) : Histogram cannot be traced.

Choose your answer from the following codes :

(1) Sistrue and Ris its correct explanation.
(2) Sis true but R is not its correct explanation.

(3) Sis false but Ris true.
(4) Both S and R are false.

%tﬂﬁaﬂﬁﬁmﬂwa‘wﬁaﬁwﬁgﬁf%ﬂﬁ%l

e (S) : mmﬂ%mwaggammﬂqﬁaﬂaﬁ%
W(R):é:ma%aﬂﬁ&ﬁ?ﬂmﬂw%l

0
38 4,00
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ROUGH WORK
& &
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st <& ferg fdw
(mgﬁm%mmwwmm—w&ﬁ'gﬁw

Fae Tell- el aer-ange 47 @ 8 fre) dec o
mgmﬁﬂﬁ%loﬁﬂzﬂamﬁaaﬁﬁwﬁmﬁw 2 |
m@qﬁélmaﬂﬁqﬁaﬁmwﬁtwmm—ﬁmaﬁmw
TET F gEd gReH M A
e w9 § e e ¥3v-09 & sifafa, fora A1 e g Ge H 61
i @
w7~ e @ 2 mar 1 3@ 7 @ ;3 A 7 & fapa a geIT ST UA T 1 A
a7 FAT-0T F & qoArHT (AT A |
mwﬁwm—wamﬁm_m—wmﬂqﬁﬁuﬁawmﬁ@

o 0 o ﬂliﬂiﬂfﬁmmﬁﬁmmﬁﬁszﬁm‘?fﬁ)m
iﬂg;w:?\wgg: it 3ito WHo Mo A e &1 gfafeat ¥ i 1 Fgar
T8 21
mg%ﬁm'#'ﬁfﬁwﬁaﬁwﬁﬁﬁmmmmaﬁ#mw uF I

&7 T3 T WA
:gﬁmﬁ'mm%mmmﬁ#n@ﬁmmﬁmmiﬁ;
MW-wﬁnﬁﬁﬁmﬁﬁ#wﬁaﬁm-ﬁ%mgﬁwﬁ#

'%wh#wma‘r | |
gm%m%mm%ﬁqﬂﬁw@gﬁmqﬁaﬁwﬁ

A ol W | T IR T A |
- H:lﬁ ?nmmdmmwwﬁ'wmif aﬁmﬁnﬂ:;fr?m
:f?éwm?f ﬁﬁﬁwdﬁ%m#ﬁanﬂnﬂ?gﬁ'#mﬁuk&@# &l
& a3 JE
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